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QUESTION 1

Which TWO of the following resources are used by the NetCache to build its routing table?
A. static routing table entries

B. ICMP redirects

C. OSPF routing updates

D. RIP routing updates

Correct Answer: AB

QUESTION 2

Network Appliance field alerts and

A. are available at "www.netapp.com”
B. may be received via email

C. are available at "now.netapp.com”
D. replace autosupport

Correct Answer: BC

QUESTION 3

Product documentation is available on the appliance and at
A. www.netapp.com

B. ftp.netapp.com

C. now.netapp.com

D. documentation.netapp.com

Correct Answer: C

QUESTION 4
Which one of the following commands will display routing tables for the NetCache appliance?
A. routestat

B. sysstat 1
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C. netstat -m
D. ifstat -a

Correct Answer: C

QUESTION 5

A(n) VIF combines two physical interfaces into a single virtual interface where traffic is active on both physical
interfaces.

A. single-mode

B. multi-mode

C. cluster-mode

D. aggregate-mode

Correct Answer: B
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